3 (Sem-1) STS

2018

STATISTICS
( General )

Full Marks : 60
Time : 3 hours
The figures in the margin indicate Jull marks
Jor the questions

Ansuwer either in English or in Assamese

1. Answer the following as directed : 1x7=7
TETS ARG et e fia
(@) Name any two methods of collection of
primary data.
T 9 e R e 51 “rafey [ o |
(b) For mesokurtic distribution, By =3.
(Write True or False)
TRFOR IR By, = 3.
(1e1 = g foran)

(c) Consumer price index number helps to
evaluate ____ of money.
" (Fill in the blank)
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(2)

AT T PP MIRGFR___ 3w |
(AR 3% o7 2FT)
(d) Using Iﬂstogfam; we can determine

a particular measure of central
tendency namely __

(Fill in the blank)

RRarR e oI 8 23R e o5 AR
e e R =i g

(4R 37 o7 zw)
(e) Write down the value of A" (ax™ + bx" 1),

A™ (ax™ +bx™"Y) 3 T o |

() What is the relation between arithmetic
mean, geometric mean and harmonijc
mean?

TR AW, A TG & o TGS
&S ol [ 2

(g9 The median of a set of observations
14, 18, 20, 21, 25, 36 is
i) 20
(i) 21-5
(iii) 20-5
(iv) None of the above

(Choose the correct answer)
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(3)

cif¥Fe W 14, 18, 20, 21, 25, 363 TN
[eed

i) 20

(ii) 21-5

(iii) 20-5

iv) So{Y GBS

@ ™ o 1R ere)

2. Answer the following questions : 2x4=8
o 2PARY BT fora

(@)

(b)

(c)

(d)

A9/370

State the difference between a
questionnaire and a schedule.

G 2RI SIF 93 PP TS N Sea
e

Define interpalation.

AR AT e |

Find the mode of the distribution whose
Pearson’s coefficient of skewness is
0-32, SD = 6'5 and mean = 29-6.

QA @1 Remem IR W P
IgTS BN = 0-32, amfaF Roew = 65
F WG = 20-6 T, (9B ROEADHR I
Refa w1

Discuss any- two problems involved in
the construction of price index number.
T PIRE AFSFII 1S WSS R e 761
TR Ryca Seas 40

{ Turn Over )



(4)

3. Answer any three of the following questions :

5x3=15

oo o R erean fofibt e Tex forn :

(@)

(b)

(c)

@

A9/370-

What is frequency distribution? Explain
the general rules for construction of a

frequency distribution. . 2+3=5
IMRIRE [Row" g (2 IRQ[ES Reomw
TS T AR Ty, 31 <F1 |

Define mean deviation and standard
deviation. Prove that for any discrete
distribution, standard deviation is not
less than mean deviation from mean.

e Rvem o amfae Reemm e a1 e
T A, R @ Riten Remwr 1R awifas
oo M o s T o Reemels @
T CIRNA |

Estimate U, from the following table :

Tore T ARTIT o[ U,y 5 Bfrean -
"x : 10 15 20 25 30 35
Uc : 43  — 929 32 56 77

Define a statistical table. State the

- essential qualities of a good table.

R ORI 1 9w o
SRR SR oz ST 9 |
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(e)

()

(i)

(S)

For a distribution, the mean is 9 and
variance is 18; v, =1 and B, =4.
Findu, and p4. 3
Al BT IBAT AP 9 WF 2P 18;
Y1=1 9F By =4. ny ¥ pnu3 I
Refg =1 '

Prove that
b4 1 D 2 W

2
(%} x3 =6x 2

4. Answer any three of the following questions :

were faan R e oot e T forn

(a)

A9/370

(i

(i)

10x3=30

What do you mean by measure
of dispersion? What are different
measures of dispersion? Which one
is considered to be the best and

why? 2+4+2=8
*RE WA i B o7 ohiRe Rivw
eI B 2 =it Bed Mok
urF 2
Find median from the following
frequency distribution : 2
wore. il IRl R o[ s fefy
QM -

x 1 2 3 4 5

f 5 6 2 1




(6)

(b) (i) State and prove the fundamental

theorem of finite difference. 1+4=5
JRfe SEIFe e (AT Tormaco!
forat =% o1 41 |

(ii) From the following table, estimate
the number of students getting less

than 25 marks ' ) 5
o ORI o/l 25 SF I TIF AR
A9 RN e 90
Marks <10 10-20 20-30 3040 40-50 50-60
59
No. of students : 10 32 42 56 35 20
g9 R

(c) () What is family budget enquiry?
Discuss the construction of cost of
living index number (CLIN) by the
family budget method. 4
s 45d1 AN F7 SEwuRT T
oI S AR JoAT w3

EZIN

(i) From the following data, calculate
price index using Laspeyres’
formula and Paasche’s formula.
Hence find Fischer’s ideal price
index. 6
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(7)

To OYR °[l SAGCAIES @ S <fieed
A IR T PR Ry w0 o

TR T o e pere o 390
Price (in ¥) Quantity
Commodity 757 (53TS) - off3wret
AL Base Current | Base Current
period period - period period
e oS R oS
A 8 10 40 -45
B 6 5 28 25
C 8 6 30 35

(d) (i) State and prove a suitable
interpolation formula given that the
arguments are not equally spaced.

1+4=5
mwmwmgﬁﬁm
AR o1 T S @ R e
Lol
(i) Show that
S @ !
Atan-lx=tanf1__'l___
. 14 hx +x2 2

(iii) Show that the 3rd order divided
difference with the arguments q, b, ¢

and d of the function 1 is -
x abed

m@wﬁwa,b cOF dI IR

flx)= —?Wﬁaﬁr’@w-w
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(e)

)

(i)

(8)

Define moments. What is
Sheppard’s correction?

Yo Tl A | Ceee el 2

The first four central moments are
0, 6, 12 and 120. Examine the
skewness and kurtosis.

219 BIfRBT (AN g9 FH 0, 6, 12 S
120. R 3% I@ol W [gqer <=

-9

(i)

@

(i)

(iii)

A9—3500/370

Find the coefficient of variation from
the following data :

oo fra ©UF {1 {59 @ R 71
58, 69, 60, 54, 65, 57, 49, 79

Write down the general quadrature
formula and then obtain the
Simpson’s 3rd rule.

AR AT A P o oo
Lo St et |

By means of Slmpson s 3th rule, find

theva.lueofj dx
01+x2
foropag 3 wwﬁm J =

°1+x2
ﬁ«ﬁwn .
Find the value of Ae*. Given h =1.
Ae*3 i Bféear | Rl WRE A = 1.

* kX
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